

Pune District Education Association's Seth Govind Raghunath Sable College of Pharmacy, Saswad, Pune

Student Satisfaction Survey

Combined Feedback Analysis

Academic Year: 2022-23

This report consists of following activities:

Title: Students Feedback on the Institution (Attended By: Semester IV, Semester II, Semester VII), Semester VII

Total number of response(s): 222

Question	OVERALL RATING						
Answer	Value	No. of response(s)	No. of response(s) Response value Response				
Excellent	5	57	285	25.68			
Very Good	4	82	328	36.94			
Good Good	3	65	195	29.28			
Satisfactory	2	13	26	5.86			
O Poor	1	5	5	2.25			
Performance				75.59			



Question	Overall for	Overall fulfillment of expectations from the college			
Answer	Value	No. of response(s)	Response value	Response %	
Excellent	5	60	300	27.03	
Very Good	4	66	264	29.73	
Good	3	72	216	32.43	
Satisfactory	2	19	38	8.56	
O Poor	1	5	5	2.25	
Performance				74.14	



Question	Recognition	Recognition of the our college amongst Pharmacy Colleges of Pune University according to your perception				
Answer	Value	No. of response(s)	Response value	Response %		
Excellent	5	65	325	29.28		
Very Good	4	76	304	34.23		
Good	3	61	183	27.48		
Satisfactory	2	14	28	6.31		
Poor	1	6	6	2.70		
Performance				76.22		



Question	Encourage	Encouragement given by the college for participation in inter-collegiateTournaments etc.				
Answer	Value	No. of response(s)	Response value	Response %		
Excellent	5	55	275	24.77		
Very Good	4	80	320	36.04		
Good	3	61	183	27.48		
Satisfactory	2	21	42	9.46		
Poor	1	5	5	2.25		
Performance			74.32			





Question	National	National Service Scheme (NSS)		
Answer	Value	No. of response(s)	Response value	Response %
Excellent	5	56	280	25.23
Very Good	4	74	296	33.33
Good	3	69	207	31.08
Satisfactory	2	18	36	8.11
Poor	1	5	5	2.25
Performance				74.23

Question	Earn & L	Earn & Learn Scheme & Students Welfare Activities			
Answer	Value	No. of response(s)	Response value	Response %	
Excellent	5	58	290	26.13	
Very Good	4	73	292	32.88	
Good	3	65	195	29.28	
Satisfactory	2	23	46	10.36	
Poor	1	3	3	1.35	
Performance				74.41	



Question	Guidance	Guidance for Competitive examination				
Answer	Value	No. of response(s)	Response value	Response %		
Excellent	5	51	255	22.97		
Very Good	4	73	292	32.88		
Good	3	69	207	31.08		
Satisfactory	2	24	48	10.81		
Poor	1	5	5	2.25		
Performance				72.70		



Question	Timely po	Timely personal/ professional Counseling by the faculty				
Answer	Value	No. of response(s)	Response value	Response %		
Excellent	5	64	320	28.83		
Very Good	4	60	240	27.03		
Good	3	70	210	31.53		
Satisfactory	2	21	42	9.46		
Poor	1	7	7	3.15		
Performance				73.78		



Question	Achieven	Achievements of TPC (Training & Placement Cell)- fulfillment of your expectations.				
Answer	Value	No. of response(s)	Response %			
Excellent	5	58	290	26.13		
Very Good	4	57	228	25.68		
Good	3	55	165	24.77		
Satisfactory	2	30	60	13.51		
O Poor	1	22	22	9.91		
Performance				68.92		



Question	Utility of Tutorials			
Answer	Value	No. of response(s)	Response %	
Excellent	5	44	220	19.82
Very Good	4	60	240	27.03
Good	3	84	252	37.84
Satisfactory	2	24	48	10.81
Poor	1	10	10	4.50
Performance				69.37



Question	Book Bank	Book Bank Scheme			
Answer	Value	No. of response(s)	Response value	Response %	
Excellent	5	65	325	29.28	



Question	Book Bar	Book Bank Scheme			
Answer	Value	No. of response(s)	Response value	Response %	
Very Good	4	58	232	26.13	
Good	3	64	192	28.83	
Satisfactory	2	27	54	12.16	
Poor	1	8	8	3.60	
Performance				73.06	

Question	Amenitie	Amenities (Gym, Playground, Toilets, Drinking Water etc)				
Answer	Value	/alue No. of response(s) Response value Response				
Excellent	5	58	290	26.13		
Very Good	4	50	200	22.52		
Good	3	76	228	34.23		
Satisfactory	2	23	46	10.36		
Poor	1	15	15	6.76		
Performance				70.18		

Question	Technica	Technical Non-teaching Staff (Laboratory)		
Answer	Value	No. of response(s)	Response value	Response %
Excellent	5	64	320	28.83
Very Good	4	82	328	36.94
Good	3	51	153	22.97
Satisfactory	2	18	36	8.11
Poor	1	7	7	3.15
Performance				76.04



Question	Non-tead	Ion-teaching Staff (Library)		
Answer	Value	No. of response(s)	Response value	Response %
Excellent	5	60	300	27.03
Very Good	4	71	284	31.98
Good	3	63	189	28.38
Satisfactory	2	19	38	8.56
Poor	1	9	9	4.05
Performance				



Question	Administ	Administrative Non-teaching staff (Office)		
Answer	Value	No. of response(s)	Response value	Response %
Excellent	5	61	305	27.48
Very Good	4	87	348	39.19
Good Good	3	50	150	22.52
Satisfactory	2	18	36	8.11
Poor	1	6	6	2.70
Performance				76.13



Question	Faculty			
Answer	Value	No. of response(s)	Response value	Response %
Excellent	5	53	265	23.87
Very Good	4	68	272	30.63
Good Good	3	78	234	35.14
Satisfactory	2	17	34	7.66
O Poor	1	6	6	2.70
Performance				73.06





Question	Utility of Museum				
Answer	Value	Value No. of response(s) Response value Response %			
Excellent	5	49	245	22.07	
Very Good	4	61	244	27.48	

Question	Utility of	Utility of Museum				
Answer	Value	No. of response(s)	Response value	Response %		
Good	3	68	204	30.63		
Satisfactory	2	26	52	11.71		
Poor	1	18	18	8.11		
Performance				68.74		

Question	Facilities	Facilities for extracurricular activities (Cultural, sports)		
Answer	Value	No. of response(s)	Response value	Response %
Excellent	5	48	240	21.62
Very Good	4	80	320	36.04
Good	3	62	186	27.93
Satisfactory	2	20	40	9.01
Poor	1	12	12	5.41
Performance				71.89



Question	Industria	Industrial Tours		
Answer	Value	No. of response(s)	Response value	Response %
Excellent	5	44	220	19.82
Very Good	4	39	156	17.57
Good	3	68	204	30.63
Satisfactory	2	29	58	13.06
O Poor	1	42	42	18.92
Performance				61.26



Question	Compute	Computer & Internet facilities		
Answer	Value	No. of response(s)	Response value	Response %
Excellent	5	56	280	25.23
Very Good	4	77	308	34.68
Good	3	57	171	25.68
Satisfactory	2	22	44	9.91
O Poor	1	10	10	4.50
Performance				73.24



Question	Library-A	Library-Ambience Availability of books/ journals			
Answer	Value	No. of response(s)	Response value	Response %	
Excellent	5	60	300	27.03	
Very Good	4	77	308	34.68	
Good Good	3	58	174	26.13	
Satisfactory	2	21	42	9.46	
Poor	1	6	6	2.70	
Performance				74.77	



Question	Facilities in the laboratories				
Answer	Value	No. of response(s)	Response value	Response %	
Excellent	5	45	225	20.27	
Very Good	4	71	284	31.98	
Good	3	72	216	32.43	
Satisfactory	2	24	48	10.81	
Poor	1	10	10	4.50	
Performance				70.54	





Question	Infrastructure				
Answer	Value	No. of response(s)	Response value	Response %	
Excellent	5	57	285	25.68	
Very Good	4	67	268	30.18	
Good	3	76	228	34.23	

Question	Infrastruc	Infrastructure			
Answer	Value	No. of response(s)	Response value	Response %	
Satisfactory	2	16	32	7.21	
Poor	1	6	6	2.70	
Performance				73.78	



Achieved 72.62 | Scope for improvement 27.38

DICR SCHOOL

DICR

Pune District Education Association's SETH GOVIND RAGHUNATH SABLE COLLEGE OF PHARMACY, SASWA

STUDENTS FEEDBACK ANALYSIS AND ACTION TAKEN REPORT 2022-223

Student's overall feddback for the both terms was collected online using vmedulife software during July 2023. A well structured online feedback forms were prepared by institute with the guidelines given by department and IQAC. The feedback forms circulated online among UG and PG students. The feedback analysis of all the classes has made to know student's satisfaction with available infrastructure facilities in the institute. The data collected from all the classes was carefully analysed.

The following are the finding's and the observations from the students' feedback.

Finding and observations:

- 1. Total 222 students from B. Pharm. and M. Pharm. were responded to the feedback form sent to
- 2. More than 75% students gave good to excellent remarks on infrastructure facilities, Library, computer and Internet facilities for extracurricular activities, museum utility, faculty, non-teaching staff and other amenities.
- 3. College is good for studies and other activities also.
- 4. Provide open boys common room
- 5. Provide more reference books and books for competative Examinations.
- 6. Industrial visits should be arranged.
- 7. Teachers are excellent and supportive.
- 8. Sports material not available.
- 9. Provide placement drive for students.
- 10. More activities like educational tours should be provided.
- 11. Teachers are excellent but should cover syllabus in time
- 12. The institute have best teaching and non-teaching staff.

Action taken:

- 1. Instructions given to Librarian regarding purchase of more number of books for competitive examinations.
- 2. All the concerned coordinators are instructed to arrange Industrial visits of all classes compulsory.

3. Purchase of new sports material is inprocess.

4. Principal instructed to all the faculty members regarding completion of syllabus in time in Academic monitoring meeting.

Mrs. Jayashri R. Jagtap
ACADEMIC INCHARGE
PUNE DISTRICT EDUCATION ASSOCIATION'S
SETH GOVIND RAGHUNATH SABLE
COLLEGE OF PHARMACY, SASWAD
TAL PURANDHAR, DIST. PUNE - 4*2301.

Dr. Rajashree S. Chavan

PRINCIPAL
PUNE DISTRICT EDUCATION ASSOCIATION'S
SETH GOVIND RAGHUNATH SABLE
COLLEGE OF PHARMACY, SASWAD
TAL PURANDHAR DIST. PUNE, 412 301